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COMMERCE
Paper-I1I

Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions. -

1. The aggregate payment approach in human resource accounting was developed

by :
(A) Mayers and Flower
(B) l‘Hermanson
(C) S.K. Chakraborty
(D) None of the above
2. The main task of National Financial Reporting Authority is :

(A) to make recommendations to the central government on the formulation

and laying down of accounting and audit policies

(B) to monitor and enforce compliance with accounting and auditing standard

in the prescribed manner

(C) to oversee the quality of service of the professions associated with ensuring

compliance with such standards
(D) All of the above
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1. AFE SOEA oEEA § wmE PR # ade fawfan s ’glu foham T o ?
(A) T iR W (Mayers and Flower)
~ (B) TWT9H (Hermanson)
(C) TE. . wwadi (S.K. Chakraborty)
(D) Swdad ¥ T +E T

2. TN faxia fafén wivesor =1 ger =9 .

(A) auimﬂﬁéulqﬁmﬁﬁﬁﬁwmaﬁimq?%mﬁﬁéﬂ
il

(B) freifa a0 ¥ @A oiR dEn Tha F HEE w1 STeE iR friam we

(C) T wrl & 7w YAfvem FT & WY IS ol H O grwa?n
6l W-m |
(D), Swg w+ft
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3. Ind AS7 deals with :
(A) Inventories
(B) Statement of cash flows
(C) Presentatiqn of financial statements

(D) Interim financial reporting

4, When did ministry of corporate affairs issue Ind AS ?
(A) 2012 (B) 2013
(C) 2014 | (D) 2015

5. Mr. X purchased a tract of land at a cost of ¥ 1,50,000 when price index was
at 60. If current price index is at 150, the cost of land adjusted to current

price basis (based on index numbers) shall be :

(A) ¥ 3,75,000 (B) ¥ 3,15,000

(€) % 6,00,000 D) % 2,50,000
6. Choose the correct statement :

(A) Grading of IPOs is mandatory as per SEBI guidelines
(B) Grading of IPOs is voluntary as per SEBI guidelines
(C) IPO grading is mandatory for companies with turnover above T 500 crores

(D) IPO grading is mandatory for companies with turnover above ¥ 1,000

crores
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3. Ind AS7 HiET LAl ¥ :

(A) =&

(B) T3 YATE H1 &I

(C) faxfrg foertor v&qd s
(D) fafe feita ffn
4 w9 HiRe WA # W 3 Ind AS B TR R 2
(A) 2012 (B) 2013
(C) 2014 (D) 2015

- 5. %ﬁXﬁNﬁO,OOOﬁm@gYﬁmwwﬁ@ﬁamaa,mw’raeo

R 97| I ARl JoF gEEE 150 W ¥, O GaHM HiFd YR (SR gFEh

é@m)a%anmwwﬁﬁaﬁhﬁméﬁ-:'

(A) % 3,75,000 - (B) 315000
(C) % 6,00,000 (D) T 2,50,000
6. W&l %ud g .

(A) SEBI & feenfeli & SER IPO &1 Ifen sifed %

(B) SEBI%ﬁmTﬁé‘sﬁa%awIPoﬁﬁ%ﬁmﬁ% |
(C) IPO ¥fen ¥ 500 #e ¥ afers & FWeR areft HuteEl % fag e &
(D) IPO €T ¥ 1,000 Fis § it & FRER el HurEl & fog sfom &
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7. Which stock exchange has fully automated computerized system called

BOLT ?
(A) BSE (B) NSE
(C) MCX - (D) None of these
8. NSE’s trading systém using satellite commur}icatiop technology is
called :
(A) BOLT (B) NEAT
(C) NOTE (D) NEFT
9. | Which is the first Indian company to raise money in global markets by issuing
GDR ?
(A) Reliance (B) lTata
(C) Wipro | (D) Infosys

10. SEBI’s web-based complaint and redressal system for investors is

called :
" (A) SCORES (B) DOORS
(C) GATE M) Nome of these
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7w WE wEad # BOLT 7% T e ¥ wErfad wFgedidd g

§ ?
(A) BSE ~ (B) NSE
(C) MCX \ D) T8 § § HE &

8. W.WWWWW@NSEW%W%:
(A) BOLT , (B) NEAT '
(C) NOTE ©) NEFT
9. % GDR W F@ ifew aW § Y gen o T wwda w y
(A) RETTH (Reliance) (B) =@ '(Ta;ca)
© TR (Wipro) | ©) TR (Infosys)

10. SEBIH%&H—WWW@W@W@R%WW@WW

T
(A) SCORES (B) DOORS
(C) GATE (D) T ¥ W T
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11. When was e-voting by shareholders enabled in India ?
(A) July 13, 2012
(B) July 13, 2014
(©) January 13, 2012 | ~
(D) dJanuary 13, 2014

12. Algorithm trading was allowed in India in the year :

(A) 2008 (B) 2009
(C) 2010 | D) 2012
13. When was forward markets commis_sion merged with SEBI ?
(A) In 2018 ' = (B) In 2017
" (© 2016 | (D In 2015

14. The first Indian company to be listed on NASDAQ is :
(A) Infosys (B) Wipro
(C) HCL L. (D) Tech Mahindra
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11, %9 9Ra § 9§ TRRERE N AT F LRI B R ?
(A) T 18, 2012
(B) W 13, 2014
(C) el 13, 2012
(D) SRt 13, 2014

12. forg o # wra § TRy =OR &1 oogafa § T ot 2
(4) 2008 | . B) 2009
© 2010 | D) 2012

18 WSEBI@WﬂW?WWWW@W m'?

(A) 2018 # (B) 2017 &
(C) 2016 ¥ (D) 2015 H

14, NASDAQ W s B el weell wid FE ¥
(A) TG (B) fauﬁ
(C) HCL | D) = e
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15.  If the beta of a stock is 1.5, standard deviation of return is 20%, the expected

market return is 15% and interest rate on T-bills is 6%, the expected return

on stock as per CAPM shall be :
@ 215% L ® 195%
© 21% (D) None of these
16‘. When a service firm adopts marketing approach, it inyolves :
(A) Customized marketing
(B) Internal marketing
(C) External marketing
(D) All of the above
17. Market testing of a new product means :
(A) testing the product for its functional and psychological performance
(B) leami.ng abouf market size and customers reactién to the prodgct
(C) testing the approﬁriateness _of lthe product concept to the target market

- (D) testing the attractiveness of the busines proposal
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15. q\%mwaﬂalﬁ%,ﬁﬁmmﬁamm%%,aﬁfmwm15%

%aﬂxTﬁaﬁmmaﬁ%%a&CAPM.%mmmaﬁmﬁﬁm:
&) 215% (B) 19.5%
(C)-27~%~ -’ D) T § FE
16. ww@mw@ﬁmmﬁm%ﬁwﬁm’@m%;
(A) oTgHfea faque |
(B) s From
(C) ElT'c’«Ifaqﬂﬁ
(D) IFF W
17. qmﬁma‘a’wvﬁmmm%:

(A) I FRiEE SR TR wew @ fag Iam w1 Wi

(B) IO R R SR ® U Ued i ufhmem & ar " Hie
(®)) w07 R T ST STEURIT Y STl &1 THET HE

D) TH AEEE WA ® STEAT FRE
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18. Nike succeeded in convincing millions of young consumers that a shoe is not
simply a shoe, it’s an attitude and the company symbol has become one of

the most recbgnized symobl of the world. This is an example of :
(A) Product differentiation
(B) Image differentiatjon
(C) Market differentiation
(D) None of the above .
19. The corresponding four C’s of marketing mig are
(A) Customer, care., convenience and communication
(B) Customer benefit communication, convenience and cost
(8)) Customer,‘ communication, convenience and care
(D) Customization, communication, convenience and cost |

20. If marketers go.through viewer or listener profiles such as age, income, gender,
and compare media profile with their target audience to see ‘Suitablility’ of

advertising it means they are using :
(A) Regional culture

(B) Demographics

(C) Macro‘-marketing measures

(D) Scenario planning
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18. maﬁwmmﬁﬁmﬁﬁmwﬁ@wwwqﬁ%,m.

5 v s TR 1, g B R T T A T ¥ 9 T

hy | .

| (A) Wﬁfm

(B) B o=

(C) R fo=w

(D) 3w § & FE T
19, fogom fasmor & gefam R Cs ® o
(A) TeF @A, G AR FER
(B) TEsH o, H9R, ghaw R ard

(C) Tesk TR, glaw iR @

(D) e, SeR, gfa sk

20. s R F SR # Y 3 f e W a e # e
fr 9, o, Feim ok o W oo & e T g W
waeE ¥ 6 9 W W T | | |
(A) & g
(B) SHIfEent
(€)W (Macro) ISIRI 39

(D) ufgea fasA
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21.  Toothpaste, toothbrush, whitening products, kids’ oral pr'bducts and floss are
within the product line of Colgate Palmolive’s oral care and they all belong

to :

(A) Product categories

(B) Primary packaging parts
(@ Prodne breadth

(D). Product assortments

22.  The difference between customer’s expectations and firm’s perception of these

customér expectations refers to :
(A) Standard gap
(B) Knowledge gap
kC) Delivery gap
(D) Communicz;ltion gap
23. - TRPs are used to assess :
(A) Media effe.ctiveness
(B) Advertisemenf effectiveness -
(C) Brand effectiveness
(D) Target effectiveness
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o, aﬁwmz@mgﬁmaﬁ %ﬂﬁaﬁ?ﬁwmﬁzm&ﬁé@ma
F IOE o ® W § ol A meft geftm € -

(A) s S

(B) wufas YRR

(C) IR e

D) e

29, mﬁaﬁwﬁﬁnwﬁaﬁm%aﬁaﬁﬁémaﬁm‘m%:

(A) WM® W

{B) T SR

(C) famwo 3w

(D) FER 3T

23 TRP 1 STer F01 % fog swdm fopan war & :
(A) Tifean gureRied |
- (B) fa%rmwﬁsﬁm
© i T
(D) @& g9
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24.  Application of marketing principles to a social issue to bring about altitudinal
and behavioural change among the general public or a specific pbpulation

segment is more appropriately categorised as :
(A)  Issue-based rﬂarketing

(B) Societal marketing

(C) Social marketing

(D) Socially responsible marketing

25. When a new product is launched, segmentation by purchase behaviour will

lead the markéter to target :
(A) Regular users
(B) Ef{troverts
(C) Innovators
(D) Wealthy people
26. Lifestyle refers'.td the pattern of living expreséed in a person’s :
" (A) Beliefs and attitude
(B) Family life c&cle stage
(C) Activities, interests and opinions
(D) Social class and status’
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24.

25.

26.

T S @ ARt SEen o @ o SeeiE R S iadd an &
fou ww gt ge8 W fauvm fagid ®1 e st sfaq w9 4 wiiea fea
foear T ¥

(A) Hea1 snufE faque -

(B) wrHifseh faaur

©) urfer foavE

(D) umifse &9 ¥ R faqom

S UF T SAR A R W, @ SEl ® R ¥ e A w
wd T B e |

(A) Frafaa SwrTEwd

(B) dfequl =Afw

(C) oA sfasnr

(D) & &M

Sttt # =, fE & I & WEY H oYl ¥
A) favam ik @

(B) TRaM& Siaa-ush =

(C) wiafafirl, wfeal 3R ™

(D) 9 o 3R feafa
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27.

28.

29.

In a simple model of the communication process, encoding means :

(A) Interpreting a meséage transmitted by the sourcé

(B) Translating the idea to be communicated into words and pictures
(C) Changing a message to avoid communication ‘noise’

(D) Choosing the target audience so that they understand the message

The phrase “a good product will sell itself” is a characteristic of the

............................. orientation.

(A) .Production (B) Sales
(C) Marketing (D) Product
Split loyals are theose who :

(A) shift from one brand to another in search of the brand that best satisfies

their needs

- (B) are loyal to other brand |

(C) are loyal to more than one brand

(D) remain at the core
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217.

28.

29,

FOR Y & T W died # Teifen & oo ¥ o
(A) Tt 9@ g A W &1 e &

B) FErl ® v ol ft § dufe w9 @ AU SR S

- (© wwamsammm |

(D) @ Tl W YA AH A HW B W e

i Pt S ] i A e e = e B
%

(A) A ®) f

(© fwm D) IR

faufsa a®RR O A § S

(A) mﬁ@m%m,@mﬁwmmmm%%@?ﬁﬁ%ﬁ |
WWW@@WWWWWW% |

(B) TR wie & T qwRN €

(C) @ﬁwm%mm%

(D) Wewqel 9 # WA §
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30. The decision about market logistics involves :
(A) Arrangement of a set of warehouses and transportation carriers
(B) Physical distribution of goods

(C) Procurement of the right inputs, converting efficiently into finished goods

and delivering to final destination

(D) The assessment of target market’s requirements and ensuring the physcial

flow of materials and g'oodAs from point of origin to point of use

31. Programmed Instruction technique is mainly based on :

(A) repetition of tasks

(B) instructions regarding work in a wholesome manner

(C) immediate/instant feedback to participants

(D) participation of workers
32.  Which of the following is a future-oriented appraisal techniéue ?

(A) MBO

(B) Rating scale

(C) BARS

(D) Cheeklist method
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30.

31.

32.

IR T @ ar A fotr # i

(A) e R ufEET aEw & T 9w FTE

(B) axgsit &1 sifew o

©) T IEA w1 Tk, w¥E el B @R awgel # ager iR i T
W T

(D) éwwﬁmaﬁwmﬁﬂqﬁﬁgﬁmaﬂ?mﬁﬁ
difer yare F Sy gAfE

St fRy dEAE qETd: SHiha ¥

(A) @l & gAAE |

®) e T Y ww A B R

(C) wawfEl = aehe/@Ra SR < |

D) sfEt F awied

St § ¥ F R S g A 2
(A)‘MBO

(B) fém @ (Rating Scale)

(©) BARS

(D) iRz 49 (Cheeklist method)
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33. Dismissal means :

(A) Prohibiting an employee for sometime from attending work and performing

normal duties assigned to him

(B) Termination of services of an employee as a punitive step for some

misconduct

(C) Ending the terms of contract on account of attaining a certain certain

age
(D) All of the above

34. When the interviewer uses preset standardized questions to select the

candidates, it is called :
(A) Guided Interview (B) Pattern Interview
(C) Both (A) and (B) (D) Neither (A) nor (_B)

35. Forecasting supply of manpower is done with the help of which one of the

following technique ?

(A) Mérkov Analysis

(B) qukload Analysis

(C) Ratio-to-Trend Analysis
D) Reg;z'ession Analysis
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33.

34.

35.

FEE A T HIAS © :

(&) Tt e A e o S dR Ty W e e W
@ foq w® T & fau JE

(B) %7 FTER & oL Th Ui HgH & &9 § feht wHard ot qansll

FaTI
(C) T fifem og wd e W g F s T
(D) v W

Wmmmmwwﬁmﬁﬁafﬁﬁmuﬁmw

F ¢, ¥ FEA ¥

(A) TR wamerR (B) STAE WK

(C) IM (A) 3R (B) D) DA R ATA B
wﬁﬁaﬁnﬁmﬁmﬁﬁﬂaﬁmﬁﬁwﬁmﬁaﬁ
W ¥ |

(A) wrehia fergersm (Markov_ Analysis)

(B) d&dle ﬁsﬁw (Workload Analysis)

(C) %sﬁ—‘cg\—% fagawu (Ratio-to-Trend Analysis)

(D) TOA fawets™ (Regression Analysis)
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36. The primary characteristics that describe the workforce of an organisation

(primary dimensions) may be :
(A) Health habits
(B) Education and training
(C) Physical and mental abilities
(D) All of the above
37. Iﬁ paired comparison method of performance appraisal :

(A) Each worker is compared with one more worker in the group for one

trait only

(B) Each worker is compared with all other workers in the group for one

trait only

(C) Each worker is compared with all other workers in the group for all

traits

(D) None of the above
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36. e frlwd, S Wt ® wA A ot (e ) @ e E
(A) TTEea gaEd emed
(B) foran R wfoam
(©) wiftw iR AHfeE amard
(D) S TR
37. VYA HeAHA HI O UGid H :.

(A) W FEEA B qE Th R & fag wiE § ww SR wwwd & W

Eal G

(B) &% Hidwdl H qo T 9w & v T & o= wel #fiel & Wiy

& S ®

(®) mmﬁaﬁfﬁwwﬁﬁﬂwﬁ%ﬁmw@%mﬁ%ﬁaﬁqﬁﬁma

il Gl

(D) SWx # ¥ *E T
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38. The term ‘Downsizing’ means :
(A) eliminating certain jobs in an organisation to achieve greater efficiency
(B) reducing the number of levels in an organisation structure -
(C) decreasing the size of an organization in terms of its sales turnover
(D) decreasing the size of an organisation in terms of if,s market share
39. A ‘Commissioning mother’ is entitled to the maternity benefit of :
(A) 4-weeks leave
(B) 26-weeks leave
(C) 10-weeks leave
(D) 12-weeks leave

40. He wrote the book ‘Psychology and Industrial efficiency’ and is well-known

as the ‘Father of Industrial psychology’. Who is he ?
(A) Hugo Munsterberg

(B) Albert Poffenberger

(C) Harry Walker Hepner

(D) Harold E. Burtt
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38. Y= ‘SR WA # HaeW ¥
(A) ﬁwm@wmmﬁ%fmﬁwﬁ@%ﬁq‘iﬁwm
(B) @Wmﬁwﬁaﬁwﬁmm
©) ot gt e T A B St o B W
D) weR A e % wed # Fre T % AR A F wE
39. T® “‘wHlyd A", U™ Y H THIR © ¢
(A) 4TH # T
(B) 26-FK H g
" (C) 108K W T
(D) 12¥R & gl
10. TR T o s gEa # Tww frelt o siefe wEE & f
%mﬁaﬁam@mm%la’s#%?
(A) em‘f TRt (Hugo Munsterberg)
(B) TesR Wherk (Albert Poffenberger)
(C) ®0 =R ¥R (Harry Walkar Hepner)

(D) Wes 3. 9L (Harold E. Burtt)
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41. Maintenance function of human resource management includes which of the

following ?
() Handling grievances of employees
(i) Employee health and safety
(iii) Rules and regulations regarding discipline
(iv) Social seeurity measures
(A) (@) and (i)
(B) () and (v)
(C) (@) and (iii)
(D) (i) and ()
42. Choose the correct option :
(A) Factories Act 1948, ESI Act 1952, Mines Act 1948
(B) Factories Act 1952, ESI Act 1948, Mines Agt 1952
(C) Factories Act 1948, ESI Act 1948, Mines Act 1952

(D) Factories Act 1948, ESI Act 1948, Mines Act 1932
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4. A HEE YN @ TewE wd # e # 4 s i § 2
G) wHfE # e B Hee
(i) HHAN WA IR e
(i) TRTER & 9y § frem
(iv) Wﬁﬂ‘m" W& U
(A) () 3R (i)
(B) (i) ¥R (iv)
(C) i) 3 (i)
(D) (i) 3R (Gv)
42. G f?am I
(A) wrReEm Afufem 1948, ESI sifufm 1952, @ ifufm 1948
(B) FREM AtufEm 1942, ESI sifafrm 1948, @ sf¥ftad 1952
(C) HREm AfufEg 1948, ESI sfuf=m 1948, @ stfuf=m 1952

(D) HR@F ifufm 1948, ESI sfufrem 1948, @ stfufem 1932
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43. Who developed the sensitivity training technique of management

development ?

(A) dJohn B. Miner

(B) Kurt Lewin and Ronald Lippitt
(C) Chris Argyris

(D} Douglas McGregor

44. National Institute of persohnel management (NIPM) has its headquarters

at :
(A) New Delhi - (B) Kolkata
(C) Mumbai - (D) Chennai

45. Career planning is the responsibility of :
(A) Government (B) The Spensor
(C) Career Counsellors (D) The employer
46. UK is set to exit European union in :
(A) March, 2019
(B) December, 2018
(C) March, 2020

(D) December, 2019
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43.

44.

45.

46.

TR Wevd & faem &1 dagTeiiaa ufne qee fosfag =t & 2
(A) <A st. "AER (John B. Miner)

(B) &d @fed iR Iice fofeg (Kurt Lewin and Ronald Lippitt)

(C) fwg =fif® (Chris Argyris)

(D) Te¥ HRIR (Douglas McGregor)

WAA TR A% WETA Hisie (NIPM) &1 §&aed § ¢
(&) 7 et | B wewm

©) T=E | D) =

HIUE HI A fhER IaRfaE § 2

(A) &R (B) W

(C) IT9™ TeEHR (D) Frrrn

& (UK) %9 U9 99 ¥ O freeem & fag Sar ® 2
(A) ¥r€ 2019

(B) fegww 2018

(©) = 2020

D) fE=R 2019 -
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47. Which of the following countries is not a founder member of ASEAN ?
(A) Malaysia (B) Singapore
(C) Philippines (D) Vietnam
48. Which country is the newest member of WTO ?
(A) Saudi Arabia (B) Afghanistan
(C) Liberia - (D) Kazakhstan
49. When did NAFTA came into force ?
(A) 1st January, 1994
(B) 1st April, 1994
(C) 31st March, 1994
(D) 31st December, 1994

50. ‘Countries cannot dicriminate between their trading partners. If any special
privilege or advantage is granted to one country, the same favour has to be

granted to all members of WTO’. This in called :
'(A) Most-favoured Nation
(B) National Treatment

(C) Sanitary and Phytosanitary measures

(D) None of the above
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47, Trefafed 39§ ¥ ®F ASEAN &1 GRI0H WEH TE ¥ ?
(A) TR (Mala;}sia) - (B) TR (Singapore)
(C) ffad=g (Philippines) (D) foEA™ (Vietanam)
48. TN W WTO 1 71 W ¢ ?
(A) TIQl e (Saudi Arabia) (B) awnﬁwq (Afghanistan)
(C) wmgafiEn (Liberia) . (D) eniehea (Kazakhistan)
49. NAFTA %9 & & o o1 7
(A) S 1, 1994
(B) &mWa 1, 1994
(C) #r 31, 1994
(D) fe@wsi 31, 1994

50. 29 T UK W & W= 1 avid TE wY Hehd | TR TRl <@ Al Tl fewre
mmw&iﬁwﬁiaﬁm% ﬁﬁwww%mﬂawﬂﬁw

u&imﬂfq?mmw%qna%mw%
(A) T TH T

.(B),mgﬁw

(C) Waﬂimm

) B
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51. One of the following is not categorised as a ‘Subsidy box as per WTO’s

agricultural agreement. Which one is it ?
(&) Amberbox ' (B} Bluebox
(C) Green-box (D) Yellow-box

52. Which service is classified as Mode 3 GATS (General Agreement on Trade

in Services) of WTO ?

(A) Cross-border supplyﬁ

(B) Presence of natural persons

(C) Commercial presence

(D) Consumption abroad

' | 53. Where Was the 11th ministerial conference of WTO. held ?
(A) Nairobi | \ (B) Buenos Aires
(C) Bali (D) ‘Davos

54. Select the correct statement :
(A) Rupee is fully convertible on current account.
(B) Rupee is fully convertible on capital accouﬁt
(C) Both (A) and (B)

(D) None of the above
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51. WTO & ¥ ¥9glid & FIar 71 § § % =it ofeet o & =9 = =73+
T TR T R 9E T ¥ HA § 2

(A) 3T S99 (Amber-box) (B) +ien @fed (Blue-box)

(C) B0 99 (Green-box) (D) Uil a9 (Yellow-box)

52. IE Y91 fava YR WA & HIS 3 GATS (SRa Wide 37 38 3 §fees)
% ®9 H Fied T ?
(A) o R 3gfd

(B) Wipide <A@l i AT

(C) EAgs Iufeafd

D) T 3T

53. fava =R wed @1 1180 Wl WA wEl gel en ?

(A) T (Nairobi) (B) 79 5 (Buenos Aires)
(C) =mft Bal) - - (D) TEW (Davos)
54. W& wUA AT :

(A) T A BH R QA wWE § uRaddE @
(B) miﬁr@ﬁm'{ﬁmﬁvﬁaﬁa%
(C) <Hi (A) 3R (B)

(D) wﬁm'ﬁ@@éqﬁ
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55.

56.

57.

ONGC is involved in petroleum refining in India. It has purchased oilfields
in South Africa and has won exploration rights for a project through a tie-

up with Spain’s Repsol YPF. This is a case of :

(A) Horizontal FDI (B) Conglomerate FDI

(C) Backward'Vertical FDI (D) Forward Vertical FDI

In ‘India, FDI is prohibited in

(1) Gambling‘and casinos

(t1) Lottery business

(iiz) Real estate business

(iv) Manufacturing of cigars, cheroots, cigarillos and cigarettes of tobacco
Choose the correct oﬁe from the following :

(A) (i) and (if)

B) @), (1) and (ii7)

(C) | (1), (i1) and (iv)

D) @, @), (i) and (v)

Which of the following is not a type of foreign exchange exposure ?

(A) Transaction exposure (B) Translation exposure

~ (C) Transformational exposure (D) Economic exposure
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55. ONGC wRd # Wiferm fwmefm & wnfiet &1 36 < st & S & &a =1
| =g ¥ ok 99 & Y@ YPF & @iy -3 @ weEm A T uRaNT e
a%qwafwsﬁm%la%m%

(A)

(C) fusel Seaisr FDI | (D) M e FDI

&fast FDI | (B) @{s FDI

56. YRd ¥ FDI el fafg & 2

)

(i7)

T SR AR

Al =R

(i) SHH STEEE o9y

Gv) TR, 9%, TR, o & fare &1 o

e # Y W P

(A)

(B)

©

(D)

(i) 3R (1)
@), (i) 3R (D)
@), (i) 3R (v)

@), (i), (i) 3R (iv)

57 saﬁ@ﬁqfa%sﬁﬁq—ﬁmﬁwm@mwﬁ%?

(A) W oo (B) 1faR faaxm
(C) -uftgder faaam (D) emfd faemo
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8.

59.

60.

61.

62.

SAARC has a total of ......... member countries.
(A) 6 , (B) 7
© 8 S D)9

Bonds issued in countries other then the one in whose currency the bond

18 denominélted are called :

(A) Euro bonds : : (B) Samurai bonds
(C) Yankee bonds , (D) None of these
As per OECD, foreign investment of over .................... percent in a listed company

will be treated as RDI :
(A) 10% B) 51%
(C) 20% . D) 50%

The maximum amount on which income tax is not chargeable for the assessment
year 2017-18 in case of an individual who is not resident in India, is of the

age of 60 years or more but less than 80 yeérs is :
(A) T 2,50,000 (B) ¥ 5,00,000
(C) T 3,00,000 (D) T 2,440,000

Mr. A is resident in India. His age is 50 years. His total income is ¥ 7,90,000..

His tax liability for the assessment year 2017-18 shall be :
(A) ¥ 83,000 (B) ¥ 85,490

(C) T 84,590 - (D) T 89,450
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58.

59.

60.

61.

62.

smcﬁwwﬁgﬁﬁm%;

(A) 6 . B) 7

(C) 8 S D 9

St q51 § 9re AMIfRd €, 39 @l 3T % H Wi fRU U 9w = ==
I

(A) U av€H (Euro bonds) (B) TS SUgd (Samurai bonds)

(C) ATt §1gH (Yankee bonds) D) T ¥ I &

OECD % T, qeftag et & § o e P Reder = RO
% T H WA ST |

(A) 10% (B) 51%

(€) 20% D) 50%

aRa # Frer T 9 T frdt =t & e # e w1 fea s Of
R T8 2017-18 & fau Afyamr & T S Gl ¥, 98 SufR 60 96 a1 S99
Afeer 3 H Y, AT 80 A T FH ¥ :

(A) ¥ 2,50,000 (B) % 5,00,000

(©) % 3,00,000 D) 7 2,40,000

et A 9RT &1 @Y A §1 IHH!T 39 50 W T| IR B ™ T 7,90,000 ¥
3T 3T &1 e, 2017-18 99 & faw Bnf

(A) T 83,000 (B) T 85,490

(C) T 84,590 ' (D) ¥ 89,450
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63.

64.

65.

TR,

When the income of an individual includes the income of his minor children,

such individual shall be entitled to an exemptiori of :
(A) ¥ 1,500
B) % 1,500 per. e dhild

) %1 500 per minor child, or to the extent of income of the minor child

18 mcluded in the total income of the assessee, whichever is less
(D) T 3,000

Transport allowance granted to an employee who is blind or deaf and dumb
or orthopedically handicapped with disability of the lower extremities of the
body, to meet his expenditure for commuting between his residence and place

of duty is exempt to the extent of :7
(A) % 1,600 p.m. (B) % 800 p.m.
(C) % 3,200 p.m. (D) % 3,900 p.m.

A security listed in a recognised stock exchange, or a unit of an equity oriented
fund, or a unit of the Unit Trust of India or a Zero Coupon Bond will

be considered as a long-term capital asset if the same is held for more

than :
(A) 12 months (B) 36 months
(C) 24 months (D) 18 months
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63.

64.

65.

w& forelt safm 1 o siereats a= o o wiihd @t %, T == =

GICEIR SRR

(A) ¥ 1,500

(B) % 1,500 7% 3fcUadsh ¥=3 & U

(C) % 1,500 JI% ICTIUF T=3 & foU, A1 eqaqeh Se & A F ==

1 FUiRa &1 wa 3F § IMHA w1 FHW D

D) ¥ 3,000

TF FHA F R T U TS S A wew @R gm A el '
IR & Froat feedi =t fawemma 4 fasam &, o faw it odsg & wE 3

d9 oM & fou o wd & U % & fem fem mn %

(A) T 1,600 & HeM | (B) - ¥ 800 ¥ HEM

(C) T 3,200 ® 9&H (D) % 3,900 | HEN

Ush HRAITE W TS H geEiog T gual, a1 3RRel 3998 %S &1 366 a1

R TR H THEE A LI HIA qS HI G # detafy ISt 9 % ®9 H

wmwﬁaﬁ@ﬁﬁquw%w:
A) 12 78 B W

(C) 24 TEM | (D) 18 TN
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66. Ranui Wins'a lottery of ¥ 1,60,000. He has no other income. This tax liability

shall be :
(A) T 49,440 (B) T 48,000

(C) % 48,440 - (D) T 49,450
67. | Los;s under the head ‘House Property’ : |

(A) can be carried fo’r&afd for only 2 years )

(B) can be carried forward for only 4 years

(C) cannot be carried forward

(D) can be carried forward for only 8 years

- 68.  The amount of deduction aﬁowed w/s 80D in case of an individual shall be
limited to :
(A) ¥ 25,000' for individual himself, his - family and parents |

- (B) ¥ 25,000 for individual himself, or his family and ¥ 25,000 for his

parents

(C) T 25,000 for individual himself or his family and ¥ 15,000 for his

parents

(D) % 25,000 for individual himself or his family and % 30,000 for his
parehts‘ |
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66. T I T 1,60,000 F T Sa o SHH FE o o W ¥ sEE = 3=
2t ’

A) 3 49,440 (B) ¥ 48,000
(C) % 48,440 (D) ¥ 49,450
67. g@ﬁw“mm“%mw:"
'(A)Wza@fa%mmmwm%
(B)%a?»rziaﬁ@maﬂﬁ'mmm%
(C) om T wEEn W wEA
l(D)Wsaﬁ%ﬁqwﬁmwm%
68. mﬁwwu/sson,msﬁwﬁma%w&ﬁm@*ﬁ;
| (A) T 25,000 Afk & fou, e URAR SR - f

(B) % 25,000 =R @ T @ e RER & fau @ik 2 25,000 9 HEI-fr
3 form |

) %25,ooowﬁa%mm@vﬁm%maﬁz%15,0003@6%%—1%
& fom

(D) % 25,000 = & fow =1 39 TRER @ fAw ek 2 30,000 9 T-fo

3 fm |
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- 69. A firm shall have to file return of income u/s 139(1) :
(A) When its gross total income exceeds ¥ 2',50,000
(B) When its total income exceeds ¥ 2,50,000

(C) When its total income exceeds the maximum amount which is not

chargeable to income
(D) In all cases, irrespective of the income or loss made by it
70. From issued by an employer to an employee for TDS on salary is :
(A) Form 16 (B) Form 16 A
(C) Form 12 BA | (Dj Form 10 E

71. In case of non-corporate assessee who does not have the income under the
head ‘Profits and Gains from Business or Profession, the last date of filing

the i‘eturn of income under section 139(1) for A.Y. 2017-18 is :
(A) 31st July of the A.Y. .
(B) 30th September of the A.Y.
(C) 31st October of the» AY.
(D) 31st March of the A.Y.
72.  Tax hedging within the frame of law is :
(A) Tax planning (B) Tax management

(C) Tax evasion (D) Tax avoida-nce
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69. & HIUE ¥Y H A &I NG 1 G-I FE 20 w/s 139(1) :
(A) ¥ THS! WA ®A T T 2,50,000 ¥ i
(B) & THH! FHA I@ T 2,50,000 ¥ fuF ¥

(C) V9 THE He AE G % wE AW F S FF oemm o %

(D) |eft Al H WENE SE A AN T W AR T

70. 9q91 W TDS & fau, fvet wda & foau, & sl g g3 st faan

RIE21N % :
(A) YIF 16 - (B) Y9H 16-A
(C) w93 12-BA | D) Y9I 10-E

71, Rwmie fuid @ awe d S f ‘oraem W A9 @ g ot ey &
st o T L, um 130(1) B e o A A W wq % arfed afe
AY. 2017-18 © :

(A) AY. &I 31 S[em
(B) AY. Wi 30 faawx
(C) AY. & 31 3FRX
(D) AY. # 31 W=
72. WA B TE F e wiwem W ¥
(A) F AN (B) & JaEA

(C) * T » D) = wfER
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73. Mr. Y is an individual. His gross total income for the A.Y. 2017-18 is ¥ 5,70,000
and his tax liability is ¥ 40,170. He deposits ¥ 1,50,000 in PPF account to
reduce his tax liability. Consequently, his taxable income and tax liability

reduces to ¥ 4;20,000 and 1'7,510 respectively. This action of Mr. Y is an

example .of :
(A) Tax evasion . (B) Tax planning
(C) Tax avoidance (D) Tax management

74. Which of the following statement(s) is/are correct ?

() Taking advantage of loopholes in tax laws is called tax avoidance.

‘(ii)' "Tax evasion is a punishable crime.

(iii) Tax planning is always possible with tan management.

(A) (i) and (i)

| (B) (@) and (iiz)

(C) Only Gi2)

(D) (@), (i) and (i)
5. According to section 194 B, every person responsible for paying to any person,
whether resident or non-resident, any income by way of winning from lottery |

or crossword puzzle or card game and other game of any sort, is required

to deduct income tax at the rate of :
(A) 10% B) 20%

(C) 30% (D) 5%
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73.

74.

75.

TBC.: O41TET—II 47 i . BTO.

(i) FX A UM HL YO & WY GYe B
@) 6) IR G)

(B) Gi) R Gii)

O ), Gi) R Gi)

YR 194 B R, frd f wfe B gm w0 § fog fekR ® oI, 9

ot Y ©F = 31 AY. 2017-18 % forg St wha @@ @ T 5,70,000 ¥ SR
SET A T 40,170 ¥1 7 o PPF # T 1,50,000 51 F 3, S 9
c;n“f[cq FH q»ﬁ%ﬂ‘f@ﬁ?ﬁ?ﬁ?ﬂﬁmwmaﬂimgﬁaw@w%
A T 4,20,000 3R T 17,5101 R Y 1 98 wrfar g ¥ o

(A) & e (B) R IHI

(C) =X @R (D) T A
ﬁmi’aﬁgawm(‘—l‘f).ﬁ@aﬁ—«ra@r%?

@) mmﬁ@mﬁwwwm'mﬁmmm%

G) w0 T ag-ﬁ?:r T ¥

(€) faw (iii)

frrameit a1 TR-fremelt % o o ARl W et F, FE WA o R of R @
mﬁnﬁﬁaﬁ%aﬂ%%m,w@mﬁwﬁﬁaﬁ%%:

A) 10% " B) 20%

(C) 30% . ‘ D) 5%




